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L. Answer any two of the foHoWing Sx2=10 ,
LR T T AWM
a) Explain how 3 Proposition, jg to be distinguished from a sentence
qwﬂﬁ:&ﬁwmﬁwﬁ%m & e %
b) Differentiate between 4 deductiye and an indyctive argument
o iy ST s 3 S Y
c) Truth/falsity of o0 aT8ument’s conclygion does not by itself determine g
validity/invalidity of that argument. Elaborate With €Xamples.
M#%M#mfmmﬁmiwﬁﬁwmwﬁﬂhmwm RIewwit 3
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2. Answer any one of the following ]
Pt i 3 Reett vas & LiE g - |
) What are the differep Ctions of language? Which type of function js Primarily
a logician’g concern? Expk_!in. B
W%WWWﬂﬁwwmemﬁm%%@mn RTEAT Y
b) How agreement o disagreemen; In belief is to pe Contrasted witp, agreement or
disagreement in attityq
T E) wEwfy o STERfy £



3. a) Explain any two of the following informal fallacies with examples: 3x2=6
Pt srvaTies o 13 & el 2 51 wwmse i aviy R
“i.  Fallacy of Composition
Hefy 2w
.  Argument from ignorance
JIEF TR
iii.  Fallacy of Equivocation
wdE ahar
b) Identify and explain any two of the following fallacies 4x2=8
fPrerfafea o 2t & & R 2 ) vemifig st awgre

i. Did you meet him yet again?
7 319 39 T Samr fer?

ii. Ifalmost all the Bollywood stars are getting married then there must
be something good in the institution of marriage.
IR e vt dfefige Reat Tt o @ & A o Y den ¥ g & w1

. Yousay it’s héalthy to include fruits in the diet! The fruit-rich diet
will kill my diabetic aunt.
39 e & 6 smen 3F woit  wfter e wer ¥ welt & W R A TrfaRE g
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4. a) In the context of the Traditional Square of Opposition discuss the ‘opposition” of
propositions. 5
TR flra-al % wef § o et F 'R’ w st @
OR |

With regards to Existential Import, where do Aristotelian and Boolean interpretation
of propositions differ? How does the Boolean interpretation affect the truth relations
on the Traditional Square of Opposition?

wTe A & gy, e e B R sih qfve s wet i 7 it sme wks of 3
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b) Translate any four of the following ordinary sentences into their standard form. 4
Fraffea # & st 4 Tt 9t 378 TR IR Freaifts o arl § sEia Ak
i. Philosophical papers are never produced by chat-GPT.
- g A v st R i R 8
ii. Many women internalise patriarchal values.
&§ nfend Rqearas gedt w1 smevam s §
iii.  The chirping of the birds are zlways melodious. |
i Y sEaETEe T W A &



iv.  Most dictators are self-destructive.
i e SR A

v.  Generally she does not engage with the text actively.
. S R 78 15 % w1 9 w9 A o e &1
5. a) Do the following as directed (1+142)=4
P & so fdmgam R
i. All computers are electronic equipment. (Conversion)
o FIR @RI I § (Thad)

ii. Some physicists are not mathematicians (Obversion)
5 s Rt vy 7 # (sfo)

iii. No swimmers are fat. (Contraposition)
B¢ ¥ wier 7 ¥ (yRoRad)

b) If “All athletes are healthy” is true, determine the truth value of the following
propositions. _ 2x2=4
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1. Some healthy people are not non-athletes."

T8 TR A A-urEaF o E
ii.  Some non-healthy people are not non-athletes
FO F-T0 AN H-uF @ E
6. a) Test the validity of any two of the following (i) one by Venn diagram & (ii)
another by Syllogistic Rules: 3x2=6
et 3 & Rt < 4 e 1 vt 2% (i) o e Rer e (i) g = s &
T
1.  AEO-II
ii.  AAA-II
. AL
iv. AIl-IV

b) Reduce any one of the following syllogisms to standard form, determine its mood
and figure, and test the validity/invalidity of Syllogism by Syllogistic Rule:  2+3=5
mﬁ%&mwmﬁ-mm&mmﬁnmmmeaﬁgm
ea/sraa 1 =ragfe % Rt o vhen fivg

i.  No football lover is a well-wisher of future generations; however, all
philosophers are well-wishers of future generations. Therefore, no
football lover is a philosopher.
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ii. Some Americans are good singeré, 0, some blinds are Americans as
all blinds are good singers. o
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7. Symbolize any four of the following using the suggested notation. 4
FEIQ T A H 4T T G P F & fag w w0 R =
i.  Space shuttie can be launched only if the weather permits. (L, W)
ﬁvﬂﬂmﬁtﬁmﬁmﬁﬁ%wﬁaﬁahﬂmma(h%

ii.  Ifliquid biopsies are developed, then both cancers can be detected
early and many lives can be saved. (L,C, S)

wﬁ%ﬁazamhﬁﬁﬁﬁmﬂ?ﬁ%,?ﬁmwxﬁmmmmmmﬁaﬂrmﬁﬁ
0Tt Y I w=rE A g (L; C., 8)

ili.  Science is not about value-judgements but facts. (V, F)
Ry ea-Pvfa 5 & ff el S AR A S (V, F)
iv.  Gene editing would entail artificial evolution of life-forms. (G,A)
<0t efafen & st o i v @ (GLA) ‘

v.  Unless we preserve biodiversity there cannot be sustainable
development. (B,S)

wm_mhﬁhmmmmﬁﬁmwmmmﬁmh (B, S)
8. a) Use truth table to determine the validity or invalidity of any one of the following,
mﬁéwwﬁMWﬁwﬁuﬂhu&%MWuﬁWaﬂmﬂ 5

@  p>@Q.r)
(Qvr)o~p /.. ~p

(i) @®RVS)>ST
TS(R*S) /. (R*S)SRVS)

b) Use truth table to determine whether the following statement forms are tautology,
contingent or self-contradictory: (any one). 5
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c)Use shorter truth table to determine the validity or invalidity of any one of the
following. 4
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iii. A>(B-+C)

B>(~CVE) /.. (A>~E)
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